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SECTION A (40 MARKS)
Question 1
Choose the correct answers from the given options. [20]

(i)

(1)

(iif)

(iv)

(v)

Which java principle is depicted in the following figure.
a) inheritance

b) abstraction

c) polymorphism

d) encapsulation

Once the java program is written , it works on any platform.
Name java feature

a) java is case sensitive

b) WORA(Write once run anywhere)

c) robust

d) open product

Which of the following is user defined data type ?

1) array 2) double 3) class 4) boolean

a) only 1

b) 1and 3

c) only 2

d) only 4

The operators which joins two relational expressions
a) relational

b) ternary

c) arithmetic

d) logical

The output of 30/6%2 is
a) 1
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(vi) Select the infinite loop

c¢) for(int i=5 ;i<=5;i++)
d) for(inti=1;i>=1;i--)
(vii) The output of Math.rmax(-7, Math.min(-5 -4)) is
a) -5
b) 4
c) -7
d) error
(viii) Which method results into boolean data type ?
a) trim()
b) equals()
c) replace()
d) concat()
(ix) Which statement is true for the following statement ?
Game cricket= new Game();
a) Game is object of cricket class
b) new keyword crates object Game
c) Game is a class and cricket is an object
d) Game and cricket are objects
(x) The sum of a[2] and a[4] in a[ ]={ 5,10,15,20,25,30}
a) 30
b) 40
¢) 35
d) 20
(xi) Society playground is an example for access specifier.
a) public
b) local
c) protected
d) private
(xii) parselnt() is an method
a) in built
b) user defined
c) derived
d) default
(xii) Assertion : In switch case break statement avoids fall through.
Reason : break statement helps to execute only one case at a time.
a) Both Assertion(A) and Reason(R) is true and Reason (R) is a correct
explanation of Assertion(A)
b) Both Assertion(A) and Reason(R) is true and Reason (R) is not a
correct explanation of Assertion(A)
c) Assertion (A) is true and reason(R) is false
d) Assertion (A)is false and reason(R) is true
(xiv) Assertion: In the absence of updation statement for loop becomes an infinite loop
Reason : The updation is not necessary statement in for loop.
a) Both Assertion(A) and Reason(R) is true and Reason (R) is a correct
explanation of Assertion(A)
b) Both Assertion(A) and Reason(R) is true and Reason (R) is not a
correct explanation of Assertion(A)
c) Assertion (A)is true and reason(R) is false
d) Assertion (A)is false and reason(R) is true
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Which is correct statement for boxing ?

teger.parselnt("45”);

of last element of an array ar[] is

h, String s)

IS correct for the above prototype

a) check () does not return any value

b ck () has return type int

c) check has two actual parameters
d) IS type of pure method

double x >,4.5,0.5,6.4};, occupy _ bytes
3 |

c) 8

a .

The ds which returns int

a) QunNal

C) cell

2

\ AA it =
) VVrite java

Convert following switch case into if else if
ewitchi v
Cast
case 't' : System.out.print(“Teacher’); break:
default : System.out.print(“Student”);

Evaluate the given expression when x=4

trolled loop
m then display
numbers. But

void show(

ProdL

coae

the code to run properly
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SECTION B ( 60 MARKS)
(Program should have variable description table)

Question 3

efine a class with following specifications

Class name : Hotel

Member variables

5tring name : stores name of customer name

Oong mobno : stores mobile number

stores number of days customer stayed in hotel

oill : stores customer bill

Member method

otel( ) - default customer to initialise variables
INput {) —Input values using Scanner class methods

charge( )- calculate bill as per the following criteria

Charge/day

1000 Rs/ day

900 Rs/day

800 Rs/day

bill)

Jmer name , mobile number and bill

10d in main method with help of an object

Question 4

a class to accept 20 characters in array ar[ ]. Count total number of
>rcase characters , lowercase characters and digits. Display them separately
Number of uppercase characters
Number of lowercase Characters _
Number of digits ]

Question 5
class to accept a String and check if it is valid password or not.
ssword is valid if it satisfies following specifications
ngth of password should be 8

character should be uppercase character

e Is not allowed
cept first character any one character should be special character(&,$ #,@)
any one specification is not there display it is invalid password

uestion 6

ne a class to accept values into 3x3 array. Check if it is Unit Matrix or not
matrix is said to be Unit Matrix when all left diagonal elements are 1 and rest all

nents are zero



Question 7

Define a class to accept a number . Find smallest and largest digit of the numbe
If sum of smallest and largest is even number then it is called Bankai number
otherwise it is not Bankai number.

Example : 68943 smallest digit =3 , largest digit=9 sum =9+3=12 is even number
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Question 8

Define a class to overload a method print() as follows :
void print ( - @Q#@#@

@*@+*@

QHQ*@

Q*QH*@

L Y

rence of 0.5.
0 , y=4.

Jouble print( double x , double y) - display sum of numbers between x and v with

output is : 1.0 +1.5+2.0+42.5+........ +4.0

int( char ch1, char ch2) — compare ascii code of two characters and return ascii code
of largest character [15]



